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The figures in the margin indicate full marks
for the questions

1. Answer the following questions (any ten) :

1x10=10

(@) What is social indifference curve?

e e @ f$ 02

(b) Define property rights.
TG SEIee ke fi |

(c) What is monopoly power?
GFCHBH THTT =S 5 2
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(2) (3)

(d) What is product differentiation? ()  Define cartels.
mﬁ[ﬁt@‘fﬂwwﬁmﬁmo TeHAme TReF @ firaw |
(e) Define saddle point. (m) What is exclusivity?
el R Fige fian | g e & 3mm e
(/ What is payoff matrix? (n) Write one difference between private
P o goods and public goods.
TETe T UF IR G TGS <GBl (12
(g9 In what type of market we get feram
asymmetric information?
@ & TS SPTES o1 Rata o (o) State Bertrand’s model of oligopoly.
Bin ) TALST FHRCEOR I OG0! IS 747 |
(h) Give an example of positive externality,
2. Answer the following questions (any five) :
afb 471 qfRRreR Tmege o | 2x5=10
] : S 2PePTRd Teq fordt (1 cprcent i)
(i) What is first-degree price
; discrimination? (@) Define Pareto efficiency.
ﬁwWRﬁmqﬁmﬁsw? CoCa0’ FHETer ke i |
() What is the basic difference betwesn (b) Write two features of public goods.
oligopoly and duopoly? AT G5 751 CAMET oA |

“flefe 5 9 b () How does concentration ratio determine
degree of monopoly power?

@I TPCe Goha e e T
TR 4 5 o e e s 2
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(k) What is shutdown pointp

Ah



(4)

(d) What is ‘two-person zero-sum’ game?
RS -Gl e s
() What is meant h i ' 1
a market? g =
T RS Joreat & ey o
i} i)fifst?nguish between production
iciency and €xchange efficiency
TR Ty '
ol SIF [ mrer wrwe oneta
(g9 What are ini
m
Strategies? sl e
ST ‘i PP 5 9
(h) What is
discnmlnation? e ghs
el
T R R
3. Answer the
follows;
Owing questionsg (any Jour)
o FPRY g ey (f CPIT w5y T
(@) Explain how eff
ic
1 exch o thrt;?:cg €an be achieved
dlagmals 81 Edgeworth box
TR Ty o
KIG)| T el (e
M ‘}nﬁ: ?HWIT W'| B e
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(b)

(c)

(d)

(S)

Briefly explain the causes of market
failure.

TG RFTOR FRPTR B W1 3 |
Explain the concept of excess capacity
under monopolistic competition.

T I@me  Seoee wfeRe  wwNerR
YIFEIICHT 10 9541 |

When is price discrimination possible
and profitable? Explain.

™ Reeneg T S T HF T o[ 2
I F4T |

(e) Explain the concept of Prisoner’s
Dilemma.
PIEA TR LT 7T <54 |

() Distinguish between perceived and
proportionate demand with the help
of a diagram.
Bag @@ SRk e TEARSE  wifRne
AIEIICHT 77471 o1 |

(g) Explain how the growth of monopoly
power can lead to market failure.
SRS EIEEREY e e o ey ——
B BCF, T 4 |
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(h)

(6)

(7))

Do you think monopolist always (d) Explain how prices and output can
earns  supernormal  profit? Justify be determined under monopolistic
your answer. competition in the short run and
GO IERE el M wEeE s long run. _ 10
ST PO 2 CONIE T@aq g fra | GFIRFH TGRS T E SAT ZHFTS T
TLFTTS @S el SR NS, v 41 |
Answer the following questions (any Sfour) : ) Explain disgrammatically Cournot's
10x4=40 & AT,
OF 2P T ol (R e wifN) model of duopoly equilibrium. 10
*Ze159 S el S STt < w5 |
(a) What is production-possibility frontier T Ll
(PPF)? How can resources be allocated rtetwo! Applicatiohs of pamastheor:
efficiently through PPF? State Pareto’s 0] Wnte' s }‘}:p IR e solvin.
third condition for optimality. 2+6+2=10 Explain snezer(;nsum T a.r§
a two-pers = .
BT TR (341 (. 1. aw.) 152 oo the limitations of game theory? 2+6+2=10
i o @ OE I A BT B 3R -
THRONT I A2 AT AHSN 4R Ik e
laEe] (PCeTnCe s U
Dol TSI I v
b 41 | (3 O%9 TGRS Sead 4 |
(b) State and explain Coase’s theorem.
What are the limitations of Coase’s (g) What is information asymmetry? How
theorem? 6+4=10 does information asymmetry affect
s : i two examples of
T TG TE F TR business?  Give
ﬁwmq : 72 69 SR markets where information asymmetry
- prevails. 2+6+2=10
(c) How can monopoly power be controlled o1 eprfel 7 P SPREeR TR
and regulated? Explain, 10 R SR T 7 iBT oA SPTRTS 2
FFCTAN T M T Pt W o <erd A T |
TR+ 7 <t =y
11 ;
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(8)

(h) Explain why there is no supply curve
under monopoly. Explain the case
of dumping in international price
discrimination. 5+5=10

GE a7 1ep S O 1 A ) o e 2 o o

[ T4 TEESF e 74 Rreneeq
CFES TIF#16F QIRACH! G101 41 |

(i) Describe how a monopolist will
discriminate the price in the markets
with different elasticities of demand
and attain equilibrium. 10

w61 fon vifRms fEfewremer w1 qome Ricemt

GIO0A TEES @A ST A =W,
HCEAGT 47 |

() Compare and contrast Bertrand
and Stackelberg’s equilibrium under
oligopoly. 10
FHARGON qEEe  INLe  WE (IR
I G S AL YAl |
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